Composite Functions

Find an expression for fg(x) for each of

(e folod) <= 206
these functions:

=2
(@ f(x)=x—-1 and g(x)=5-2x (b> FS(QC—> = Z(DC‘\-S)

B =252 and - g(x)=x+3 = 2DC2+ 12+

Find an expression for gf (x) for each of (O\) F(x_> 2 S |

these functions:
(@ f(x)=2x+1and g(x)=4x+3 (b) QF(I) = ':)éc, it

() f(x) =2 and g(x)=2x-1

iy FB)-1 FR)= -1
(‘\) 4oc_—q=x OCFE)

The function f is such that f(x) = 2x — 3

(i) Find ff(2)
(i) Solve the equation ff(x) = x

; X
Functions f and g are such that (a\) FS(I} - (5'\‘3C->
o) =D and g(x)=5+x . = 4+ \0C+ 25
(a) Find (i) fg(x) Gy gf(x) (ain) 6(:(3(-} =ESoais

2
= 5 ar
(b) Solve fg(x) = gf (x) (b) oc?+ 100c+25 =

S g 1
The function g is such that s i T, B
gx) = ‘—i— forix =1 (q> %S(DC-> A =0
e ] 1- g 1=

(a) Prove that gg(x) =

X

(b) Find ggg(3)

Functions f, g and h are such that
fx)=3—x

g(x) =x?>—-14 and

hix) =x—2

Given that f(x) = gfh(x), find the
values of x.
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(0) 0g(3) =—§ 3:2%%3(%)
=3

(5-—3C,>1——\L+ =3-oC
x=9 )= 1




